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Fy g g s R E (Continuoudy stirred tank reactor, CSTR) % #2in F & B

( Plug flow reactor, PFR) /TR A .-rA—kCA’ #He k% 0001st: A
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g ot F Rz 8 4 (Stoichiometrictable) » ¥ 4% 21 A Jk & & H g
2 B (104)

OB FEEF BE (CSTR) #F-5 A 5 98%FF > 7% & 2 F s BHAH -
(54)

Gk BB (PFR)» 335 A f i Zif 08%PF » #r 3 & 2_F BEWHE - (5 %)

- otk REBiE{T- 284593 4pF & (Heterogeneousreaction ) :& v £ B ;% 5 200 mol/min »
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CFoRIPAFTEF BI2ASBACo A YHEF BE (CSTR) eEE B it
rRER RS (Vo) A A, AZETY ER G Amol/dm® > % 4% % (steady state) i
rT o EE L FER (Spacetime, t=Vivg) & v kR 2 M uﬂir'f :

Run 1 2 |3 4 5

t (min) 15 |38 |100 300 |1200

Ca (mol/dm®) |30 |25 [20 |15 |10

BRI FEFRZEFRBRESFN (I54) 235 ¥ 8 (54)
GHRF 5 )

i

=



106# 2534 B B 5 ¥ 3= 5T 3R kg 126380 e

SR -
v B IiitEE RBR1IMAE

B TR AR E o L A F B E (CSTR) * 375K i 7 5 i »

3A 5 2B +C -r1a = kiaCha kia = 10.0 min™
2C+A — 3D o = KopCaCc® kop = 5.0 dm®(mol?- min)
D+C— 3E rse = kseCcCh kae = 2.0 dm®/(mol - min)

FRENC & %8 F 2 kR A5 5 0 Ca=1.0mol/dm® ; Cz=0.5mol/dm® ;
Cc=1.0mol/dm® ; Cp= 0.5 mol/dm® ; Cc= 0.2 mol/dm® -

O R rc T~z B - (10 4 )

OF KA 2 Dz 42,23 F (netformationrate) - (10 4 )

I ~-ARAAFTHRPF R (dementary irreversible liquid phase reaction) :
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A-GH#HCSTRdF REBTRGFF R EF2ZERLZ2IC WHAER AT
R S Lomol/dm®» i& - g4k % 52 2dm s
(—éﬁi’i%@ BFEEET @I FE R R RZME % (104 )
(—)ép i\ m;\ AfgivF 5 80% 7% CSTRZ F B EMA - (104 )
oL AL
F R# AHgw =-100cal/(g-mol A) (3L # SEE B & 1)
AZ Bz t#  Ch=Cp=1cal/(g-mol-°C)
4 300K 2 i & ¥ #ick=001s"; /&t it & Ex=10kca/mol



